SN DHsYnEE
A sl SM(sEHSLM/EY - 58)
©e sYDSNE ¥ IS
SA - ZH - ESA(E) - MRAY - BES 0l &t pJE-F
B 2,158,185 1,975,737
2 99,500 99,500
= 2,058,685 1,876,237
Hesgol SH(SEHYT/5Y - SE) 1,060,542 878,004
2 99,500 99,500
= 961,042 778,594
SYDEXNY L AL 352,056 333,056
2 55,000 55,000
= 297,056 283,056
HA2Y 2L 139, 156 125, 156
201 Y2t 105,400 91,400
02 B2t 93,400 79,400
ORYR (Y, ) R 53,900 39,900
SYE0IE B2y 2 708,486 540,038
2 44,500 44,500
= 663,986 495,538
DifsLs 2 283,825 185, 100
201 Y2t 130,525 81,200
01 AF2Z2IH] 128,525 79,200
onsLM X 20,000 13,000
OX-2AAIEUH D7 1,530 1,350
OLASEY ¥ Oft] 55,800 27,000
OLA+Y ¥ OiHI(HXRS) 16,400 8,000
OXZAIE FHIYTHZAD) 7,050 4,700
OmSY ZA| 20,056 17,695
OWSY HIT M) 1,989 1,755
301 Lt Az 141,400 92,000
06 I2+1 =204 bl 88,400 54,000
OWSY Zelois 88,400 54,000
09 BAHAHI 242 53,000 38,000
OmSY B 2 A3 27,000 12,000
SHAY DS 29 34,605 29,200
201 Y2t 34,305 28,900
01 AF2Z2IH] 34,305 28,900
OLASY ¥ oft] 20,105 14,700
SAFLNS 2 32.918 21,700
201 Y2t 32.618 21,400
01 At 22IH| 32.618 21,400
OLAISEY ¥ Oitl 17,520 10,000
OmSA A 7.718 6,600
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